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QUESTION 1

As shown in the figure, after the two routers are configured with 0SPF, the administrator configures the command on
RTA. Is the following description correct? () (Multiple Choice Questions) 

A. RTA will continue to receive, analyze and process OSPF packets sent by RTB 

B. The neighbor relationship between the two routers will be down 

C. The neighbor relationship between the two routers will not be affected 

D. RTA will no longer send OSPF packets 

Correct Answer: BD 

 

QUESTION 2

A gateway must be configured for communication between a host and other hosts. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

How many planes does a network device have? ()* 

A. Control plane 

B. Business plane 

C. Data plane 

D. Management plane 

Correct Answer: AC 

 

QUESTION 4

Which of the following IPv6 is a global unicast address () 
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A. 2001::12:1 

B. FF02:1 

C. FF:02:2E0:FCFF:FEEF:FEC 

D. FEE:FCFF:FEEF:FEC 

Correct Answer: A 

 

 

QUESTION 5

When the LCP phase of PPP is negotiated, the content of the negotiation includes ()* 

A. MRU 

B. Authentication protocol 

C. Magic word 

D. IP address 

Correct Answer: ABC 

 

QUESTION 6

Which of the following statements about IPv6 address configuration are correct? ()* 

A. IPv6 supports stateless automatic configuration 

B. IPv6 address supports automatic configuration in multiple ways 

C. IPv6 supports DHCPv6 for address configuration D. IPv6 addresses can only be configured manually 

Correct Answer: ABC 

 

QUESTION 7

Which of the following message types does DHCP contain? 

A. DHCP DISCOVER 

B. DHCP REQUEST 

C. DHCP OFFER 

D. DHCP ROLLOVER 

Correct Answer: ABC 
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QUESTION 8

Which of the following routing protocols has the highest priority? 

A. Direct 

B. Static 

C. OSPF 

Correct Answer: B 

 

 

QUESTION 9

Which of the following fields are present in both IPv6 and IPv4 packet headers? ()* 

A. Next Header 

B. Destination Address 

C. Version 

D. Source Address 

Correct Answer: BCD 

 

QUESTION 10

As shown in the figure below. Which network device can host A and host B use to achieve communication? () (Single-
choice question) 

A. HUB 

B. Hub 

C. Layer 2 switch 

D. router 
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Correct Answer: D 

 

QUESTION 11

The Backup port in RSIP can replace the failed root port. () 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 12

The following statement about static routing is wrong () 

A. Cannot automatically adapt to changes in network topology 

B. Manual configuration by network administrator 

C. Low system performance requirements 

D. Routers need to exchange routing information 

Correct Answer: D 

 

QUESTION 13

As shown in the figure. All four switches are running $TP. Various parameters are set to default values. If the GO/0/2
port of switch C is blocked and cannot send configuration BPDUs through this port, how long will it take for the blocked
port in the network to enter the forwarding state? () (Single-choice question) 

A. About 50 seconds 

B. About 15 seconds 

C. About 3 seconds 
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Correct Answer: B 

 

 

QUESTION 14

VRP operating system commands are divided into four levels: access level, monitoring level, configuration level, and
management level. Which level can run various business configuration commands but cannot operate the file system?
() 

A. Configuration level 

B. Monitoring level 

C. Access level 

D. Management level 

Correct Answer: A 

 

 

QUESTION 15

The DHCP request message is sent by broadcast 

A. True 

B. False 

Correct Answer: A 
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